| "TAKAIRA
B EBEILMONT

Installation Manual

Model No. AB-0090
AN-0090

2012.08 1TEOTWACO




Installation procedure

1 Remove the packed carton and the strings fastening the chair. Then,
* remove the two coach bolts (M9X38) fixed under the sheet.

2 . Setting the Upper Seat Unit _ Soat Flange :
Insert the ram shaft into the seat flange of the upper seat (Upper Seat Unit)

unit by aligning the ram shaft roll pin with the notch in the
seat flange.

Set the top of the chair on the pump.
(If you place the top of the chair on a floor before setting it, be sure to pull out the headrest holder in advance.

Headrest Holder



3 . Fasten the chair to the ram with the attached bolt
(CS 3P MB8X25).

4 Place the sheet on the chair and fix the sheet (two places) with the
* attached screw (sems pan head screw 2P M6X25) and the
washer (for M6).

AN ;
sems pan head screw 2P M6X25
washer (for M6).
ey e

To transport the chair, hold the up/down foot pedals and base plate. Do not lift up the
CAUTION chair by holding the upper seat unit only. Otherwise, the base unit may fall off and
cause serious injury.




